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Exercise

1. The bleaching action of  is due to ………… and that due to  is

due to ……………..

Watch Video Solution

Cl2 SO2

2. Write the iUPAC name of 

Watch Video Solution

(NH4)3[Cr(SCN)6]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xTv1QaRVdFzk
https://dl.doubtnut.com/l/_KNCRXY7tfWAg


3. What is mean by pyrometallurgy ?

Watch Video Solution

4. What is demulsification?How is it achieved?

Watch Video Solution

5. Define space lattice.

Watch Video Solution

6. Fill up the blank in the following reaction .

Watch Video Solution

C6H5CONH2 + Br2 + 4KOH → ……. . + 2KBr + K2CO3 + 2H2O

https://dl.doubtnut.com/l/_Ujss604l8OIf
https://dl.doubtnut.com/l/_zaqzd9dQOSgz
https://dl.doubtnut.com/l/_SlsmQWFzgDgw
https://dl.doubtnut.com/l/_99kPUkP0OReN
https://dl.doubtnut.com/l/_ti1nGpKUsAC8


7. Name two bread spectrum antiblotics.

Watch Video Solution

8. Carbyl amine reaction is given by

A.  amine

B. amine

C. amine

D. Both amine

Answer:

Watch Video Solution

2∘

1∘

3∘

1∘ and 2∘

9. Which of the following solutions has highest depression in freezing

point at one atmospheric pressure?

https://dl.doubtnut.com/l/_ti1nGpKUsAC8
https://dl.doubtnut.com/l/_JCvU1eT05aun
https://dl.doubtnut.com/l/_L1vL1dm8CZOZ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0.1MNaCl

0.1MBaCl2

0.1MUrea

0.1MFeCl3

10. Which of the following statements is incorrect about the collision

theory of chemical reactions?

A. In considers reacting molecules or atoms to be hard sphere and

ignores their structural features

B. Number of effective collisions determines the rate of reaction

C. Collision of atoms or molecules possesing sufficient threshold

energy results into product formation

https://dl.doubtnut.com/l/_L1vL1dm8CZOZ
https://dl.doubtnut.com/l/_GzxNoFmtPAmi


D. Molecules should collide with sufficient threshold energy and

proper orientation for the collision to be effective

Answer:

Watch Video Solution

11. Which of the following is not applicable to the phenomenon of

adsorption?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔH > 0

ΔG < 0

ΔS < 0

ΔH < 0

https://dl.doubtnut.com/l/_GzxNoFmtPAmi
https://dl.doubtnut.com/l/_tYfQbWalB4Cu


12. In the reaction

, 'X' is a reddish brown gas which gives a yellow solution on passing

through water and a yellow pracipitate on treating the solution with

lead acetate solution. So 'X' could be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NaCl + K2Cr2O7 + Conc. H2SO4

heat
−−→ X + Na2SO4 + KSO4 + H2O

Cl2

Cr2O3

H2CrO4

CrO2Cl2

13. The most suitable reagent for the conversion of 

 isRCH2OH → RCHO

https://dl.doubtnut.com/l/_olquJ0ZjvM3z
https://dl.doubtnut.com/l/_B2JiP02RlAKs


A. PCC

B. 

C. 

D. 

Answer:

Watch Video Solution

KMnO4

K2Cr2O7

CrO3

14. Which of the following polymer contains nitrogen?

A. Polyvinyl chloride

B. Bakelite

C. Nylon

D. Terylene

Answer:

https://dl.doubtnut.com/l/_B2JiP02RlAKs
https://dl.doubtnut.com/l/_GWkT3cz2f9NF


Watch Video Solution

15. What are Alloys? Name the contituents of Brass and Bronze alloys.

Watch Video Solution

16. How is sulphur dioxide prepared in the laboratory?

Watch Video Solution

17. What is Wurtz-Fitting reaction? Give equation.

Watch Video Solution

18. In the reaction . The rate of

formation of  IS . Find the rate of

disapperance of oxygen gas.

4NH3 + 5O2 → 4NO + 6H2O

NO 3.6 × 10− 3mollit− 1s − 1

https://dl.doubtnut.com/l/_GWkT3cz2f9NF
https://dl.doubtnut.com/l/_rrdKuGEgqRNZ
https://dl.doubtnut.com/l/_7zcYmO4N11Fg
https://dl.doubtnut.com/l/_Qsu3TM3J87p2
https://dl.doubtnut.com/l/_1kp1yjvAg6cn


Watch Video Solution

19. What are Clathrates ?Name two noble gases which form clathrate.

Watch Video Solution

20. What happens when chorobenzene is treated with 

inpresence of  ?

Watch Video Solution

CH3COCI

Anh. AICI3

21. Suggest suitable reagents in the following transformations .

.

Watch Video Solution

C2H5Br → C2H5OH → CH3CHO → CH3COOH → CH3CONH2

https://dl.doubtnut.com/l/_1kp1yjvAg6cn
https://dl.doubtnut.com/l/_rqreKwdsG9VL
https://dl.doubtnut.com/l/_S7xzfHVCae8Z
https://dl.doubtnut.com/l/_csRiATuFdnjQ
https://dl.doubtnut.com/l/_pE3b4b2oeFQm


22. The coagulation of 100 ml of a colloidal solution of gold is

completely prevented by addition of  of starch to it before

adding 10 ml of 10%  solution. Calculate the gold number of

starch.

Watch Video Solution

0.25g

NaCl

23. Write a note on  reaction.

Watch Video Solution

SN 1

24. Write a note on Hofmann ammonolysis of alkylhalides.

Watch Video Solution

25. Write notes on Gabriel phthalimide synthesis.

Watch Video Solution

https://dl.doubtnut.com/l/_pE3b4b2oeFQm
https://dl.doubtnut.com/l/_E9ezu5zrcjlO
https://dl.doubtnut.com/l/_LtjZQReVM6xF
https://dl.doubtnut.com/l/_vK6aLIwxX9w7


26. What do you meant by activity and selectivity of the catalyst?

Watch Video Solution

27. The freezing point depression of 0.1 molal solution of acetic acid in

benzene is .Kf for benzene is 5.12 . What

conclusion can you draw about the molecular state of acetic acid in

benzene.

Watch Video Solution

0.256Kkgmol− 1 KkgMol− 1

28. Discuss the construction and working of a dry cell.

Watch Video Solution

29. How will you convert nitrobenzene to benzoic acid?

https://dl.doubtnut.com/l/_vK6aLIwxX9w7
https://dl.doubtnut.com/l/_CblNa4vDEs9c
https://dl.doubtnut.com/l/_9ponZwVvSa7C
https://dl.doubtnut.com/l/_V4p8M4wymc8k
https://dl.doubtnut.com/l/_0bKyznWX7ffX


Watch Video Solution

30. Write a note on interhalogen compounds.

Watch Video Solution

31. What is reaction of HCI with 

?

Watch Video Solution

MnO2

32. What is reaction of HCI with 

Ozone?

Watch Video Solution

https://dl.doubtnut.com/l/_0bKyznWX7ffX
https://dl.doubtnut.com/l/_OyztW6wclPpi
https://dl.doubtnut.com/l/_ntjuVngsiON3
https://dl.doubtnut.com/l/_arGS0upuGBcr


33. Write a note on haloform reaction.

Watch Video Solution

34. State and explain Kohlrausch's law of independeat migration of

ions.

Watch Video Solution

35. Write the Nernst equation and emf of the following cell at 298K. 

.

Watch Video Solution

Fe(s)∣∣Fe2 + (0.001M)∣∣∣∣H
+ (1M)∣∣H2(g)(1bar) ∣ Pt

36. How can you prepare benzaldehyde from toluene?What is the

name of the reaction?

W t h Vid S l ti

https://dl.doubtnut.com/l/_PFgQ8QYRkbGc
https://dl.doubtnut.com/l/_3aCJmlvi3jai
https://dl.doubtnut.com/l/_IHT7NGxbtP3a
https://dl.doubtnut.com/l/_LZy9ltlcaNlw


Watch Video Solution

37. Give a chemical test to distinguish between Formaldehyde and

Acetone.

Watch Video Solution

38. How is prepared in laboratary ?How does it react with 


acidified  solution.

Watch Video Solution

SO2

KMnO4

39. How does  react with 


lime water?

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_LZy9ltlcaNlw
https://dl.doubtnut.com/l/_aibyEL64YSpQ
https://dl.doubtnut.com/l/_OOzhJz7B8Vgm
https://dl.doubtnut.com/l/_wAov7sBsX34Q


40. How is sulphur dioxide prepared in the laboratory ? How does it

react with 

hot Mg ribbon

Watch Video Solution

41. What are addition and condensation polymerisation? Give one

example of each.

Watch Video Solution

42. What is biodegradable polymer ? Give an example.

Watch Video Solution

43. How is Dacron synthesised?

W t h Vid S l ti

https://dl.doubtnut.com/l/_37FRZ18bAPXk
https://dl.doubtnut.com/l/_ROzWdAkGaND4
https://dl.doubtnut.com/l/_fQgoDfwssfxH
https://dl.doubtnut.com/l/_CAPJwDx6eRWv


Watch Video Solution

44. What do you mean by elevation boiling point ?How will you

calculate the molecular mass of a solute from elevation of boiling

point?

Watch Video Solution

45. 18g of glucose  is dissolved in 1kg of water.At what

temperature will solution boil at 1 atmosphere?  for water is 

.

Watch Video Solution

(C6H12O6)

Kb

0.52Kkgmol− 1

https://dl.doubtnut.com/l/_CAPJwDx6eRWv
https://dl.doubtnut.com/l/_tFGKUSFyRKAN
https://dl.doubtnut.com/l/_UEAB6duyec9n

